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1. a) D x1% = 10x°
b) D (6x 3 —x —eX—e?)=18x* —1—¢*
c) D cos 2x=—2sin 2x
d) DeX =e* - D(x?) = 2xe*

2. a) DO *eX) =3x%-e* +x*-e* =e*x*(x+3)
b) Dlnle, x>0
X

_ 1 __ 3 1
C)Dln(3x+l)_3x—+1D(3X+l)_3x+1 , X > 3
d) D(x? - 1)%(1 - X)
=3(x* -1)%-2x-(1-x)+(x* =1)°(-1)

=(X* =1D)*(6x —6x" —x* +1) = (X* =1)*(-7x* + 6x +1)

X2+ X (2x+1)(2x2 +1) —(X® + %) -4x _ —2X° +2x+1

3. a) D = =
) 2x% +1 (2x? +1)? Ax* +4x° +1
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D(v-X —v1+2x) = D((—x)% —(1+2x)2) = %(—x)2 (-1 —%(1+ 2x) 2-2
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1 1 V1-x%) f1_ 2
d) D\VI—x? = D(L-x?)? = X(1-x?) 2 -(-2x) = — X __XI=XT g a1
2 1_)(2 :].—X2

4. a) Dsinzzlcosﬁ
3 3 3

b) Dgcos7x = E(—sin 7X)-7 = —Esin X
3 3 3
Dsin®(L—7x) = 2sin(1— zx) cos(l— 2x)(-x)

= —72sin(1— 7x) cos(l— 7x) = —zsin 2(1— 7x) = -z Sin(2 — 22x)
d) Dsin(3x—2)* = cos(3x —2)° D(3x — 2)* = (18x —12) cos(3x — 2)°
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a) |5x%dx==x*+C
) | .
b) I(t+cosx)dx:tx+sinx+C
c) Ixsintdx:sintj.xdx:lxzsinuc
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d) Ixsint dt= xjsintdt = X(-cost)+C =—xcost+C
a)j(7x3—1x2+3)dx:zx“—£1x3+3x+C=Zx4—1x3+3x+C
2 4 2 3 4 6
5)

b 3/xdx = x5dx x5+C_ X¥x +C
) [3ax=| 5
4
= 74 = . —_—— 73 = ——
C) IFdx_ﬂx dx=4-( 3x )+C = 3X3+C,x;«t0

1
d Tdx = [=dx =1 C,x#0
)Ix X Ixx njx+C,x =
a)j(sx-z)GdXZ1]5-(5x—2)6dx=1 1(5x 2)7 +C——(5x 2)" +C
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b) I—dx——jmdx:—ln|1—x|+c,x;tl

1
c)_[ ! dx:jidx:ln|lnx|+C,x>O,x¢1
xInx Inx

d) j'”—xdx jlnxD(lnx)dx:%(lnx)z +Cx>0,x#1
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1 3 1 23X 1 1
27¥dx=(=)[(-3)-2 dx=(- =— =— ,(a>0a=1
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b) jcos 2xdx :1j2cos 2xdx = 1sin 2x+C
2 2

C) Isinzxcos xdx = %sin3 Xx+C

I—sinx

d) jtan xdx = _[ = o5 x

Cos X

dx=—Incosx|+C



